
  
 

  
 MR

TM

MR | MOTION & RIGGING
UNIVERSAL MOUNTIssue Date: 11/07/2017



  
 
  
 

MR

UNIVERSAL
MOUNT

463 Cedar St.  |  Fond du Lac, WI • 54935 • USA  |  1.844.663.8787  |  www.ModTruss.com



  
 

Part Number:

Issue Date: 08/29/2017

Series: Motion & Rigging

U.S. Patent No. 8,418,425 & other patents pending

TM

MT-MR-UM-A-12-
06-14-01

Universal Mount Half 12” x 6”
Part Number: MT-MR-UM-A-12-06-14-01

Standard Material: A36 Low Carbon Steel

Standard Finish: 10 - Zinc Clear

Available Finish(es): 10-12, 20-32

Size: 4.38” x 10.5” x 0.5” (111.25mm x 266.70mm x 12.70mm)

Weight: 11.60lbs (5.26kg)

Hole Size:  11/16” (17.46mm) and 1.03” - Fits 1.0” Pin (26.162mm Fits 25.4mm Pin) 

Recommended Hardware:  5/8”-11 Thread Grade 8 Bolt, 2” Long   |   5/8” SAE Zinc-Plated Washer   |   5/8”-11 Thread, Grade 8 Hex Nut
(M18 x 2 Thread, 50mm Long, Class 10.9 Bolt   |   M18, Class 10.9 Washer   |   M18 x 2 Thread, Class 10.9 Nut)

Recommended Tools: ModTrussTM Tool Kit 1

Associated Products: MT-MR-UM-B-07-01  |  MT-PL-W-12  |  MT-HW-P-AS-0300-0100-0106

See more at: ModTruss.com

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable



Part Number:

Issue Date: 08/29/2017

Series: Motion & Rigging

U.S. Patent No. 8,418,425 & other patents pending

TM

MT-MR-UM-A-12-
06-14-01

 3
.0

00
 

 1
.5

00
 

 
1.

03
1 

 1
.5

00
 

 1
1.

25
0 

 3
.0

00
 

 6
.7

50
 

 3
.0

00
 

 
.6

88
 

 5
.3

75
 

 4
.6

25
 

 .5
00

 DE
SC

RI
PT

IO
N:

RE
VI

SIO
N:

 N
R

PA
RT

 N
UM

BE
R: M

T-M
R-

UM
-A

-1
2-

06
-1

4-
01

UN
IV

ER
SA

L M
O

UN
T A

NG
LE

 1
2"

x6
"

PR
EC

ISI
O

N 
LE

VE
L :

 M
ED

 - 
±.

06
  [

1.
59

]
BR

AC
KE

T [
 ] 

DI
M

EN
SIO

NS
 A

RE
 IN

 M
M

8/
24

/2
01

7



  
 

Part Number:

Issue Date: 08/29/2017

Series: Motion & Rigging

U.S. Patent No. 8,418,425 & other patents pending

TM

MT-MR-UM-B-07-01

7 Hole Universal Mount Biscuit
Part Number: MT-MR-UM-B-07-01

Standard Material: A36 Low Carbon Steel

Standard Finish: 10 - Zinc Clear

Available Finish(es): 10-12, 20-32

Size: 3.38” x 11.5” x 0.5” (185.85mm x 292.10mm x 12.70mm)

Weight: 3.75lbs (1.70kg)

Hole Size: 1” (25.4mm)

Recommended Hardware: N/A

Recommended Tools: ModTrussTM Tool Kit 1

Associated Products: MT-MR-UM-A-12-06-14  |  MT-HW-P-AS-0300-0100-0106

See more at: ModTruss.com

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable



Part Number:

Issue Date: 08/29/2017

Series: Motion & Rigging

U.S. Patent No. 8,418,425 & other patents pending

TM

MT-MR-UM-B-07-01

 
11

.5
0

29
2.

10
 

1.
03

26
.1

9

 
.5

0
12

.7
0

 

 
3.

38
85

.7
3

 

D
ES

C
RI

PT
IO

N
:

RE
LE

A
SE

D
:  

5/
7/

20
15

RE
VI

SI
O

N
: N

R

PA
RT

 N
UM

BE
R:

M
T-

M
R-

UM
-B

-0
7-

01

UN
IV

ER
SA

L 
M

O
UN

T 
BI

SC
UI

T

PR
EC

IS
IO

N
 L

EV
EL

 : 
M

ED
 - 

±.
03

  [
.8

0]
BR

A
C

KE
T 

[ ]
 D

IM
EN

SI
O

N
S 

A
RE

 IN
 M

M



  
 

Part Number:

Issue Date: 08/29/2017

Series: Motion & Rigging

U.S. Patent No. 8,418,425 & other patents pending

TM

MT-MR-UM-A-12-06-
14-01-AS

Universal Mount and Biscuits with 1” Pin
Part Number: MT-MR-UM-A-12-06-14-01-AS

Standard Material: A36 Low Carbon Steel

Standard Finish: 10 - Zinc Clear  |  Pin 11 - Zinc Gold/Yellow

Available Finish(es): N/A

Size: N/A - Components are multi-configurable

Weight: 32.30lbs (14.65kg)

Hole Size:  11/16” (17.46mm), 1” (24.4mm), 1.03” - Fits 1.0” Pin (26.162mm Fits 25.4mm Pin) 

Recommended Hardware:  5/8”-11 Thread Grade 8 Bolt, 2-1/2” Long   |   5/8” SAE Zinc-Plated Washer   |   5/8”-11 Thread, Grade 8 Hex Nut
(M18 x 2 Thread, 64mm Long, Class 10.9 Bolt   |   M18, Class 10.9 Washer   |   M18 x 2 Thread, Class 10.9 Nut)

Recommended Tools: ModTrussTM Tool Kit 1

Associated Products: MT-PL-W-12

See more at: ModTruss.com

Components Included
Qty. 2 -  MT-MR-UM-A-12-06-14-01
Qty. 2 - MT-MR-UM-B-07-01
Qty. 2 - MT-HW-P-AS-0300-0100-0106
Qty. 4 - MT-HW-P-CP-0448-0012-0110

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable



Part Number:

Issue Date: 08/29/2017

Series: Motion & Rigging

U.S. Patent No. 8,418,425 & other patents pending

TM

MT-MR-UM-A-12-06-14-01-AS

(2
) 1

" D
IA

. P
IN

S
(M

T-
HW

-P
-A

S-
03

32
-0

10
0-

01
06

)

 5
/8

"-1
1 

x 
2-

1/
2"

, 
G

RA
D

E 
8 

BO
LT

5/
8"

  S
A

E 
W

A
SH

ER

5/
8"

 S
A

E 
W

A
SH

ER
5/

8"
-1

1 
G

RA
D

E 
8 

N
UT

2
1

3

12
" W

A
SH

ER
 P

LA
TE

S 
A

N
D

BO
LT

 H
A

RD
W

A
RE

 A
RE

 N
O

T
IN

C
LU

D
ED

 IN
 T

HE
 A

SS
EM

BL
YITE

M
 

N
O

.
Q

TY
PA

RT
 N

UM
BE

R
D

ES
C

RI
PT

IO
N

1
2

M
T-

M
R-

UM
-A

-1
2-

06
-

14
-0

1
UN

IV
ER

SA
L 

M
O

UN
T 

A
N

G
LE

 1
2"

x6
"

2
2

M
T-

UM
-B

-7
-1

UN
IV

ER
SA

L 
M

O
UN

T 
BI

SC
UI

T

3
2

M
T-

HW
-P

-A
S-

03
32

-
01

00
-0

10
6

PI
N

, 1
" O

.D
., 

3.
5"

 L
O

N
G

D
ES

C
RI

PT
IO

N
:

RE
VI

SI
O

N
: N

R

PA
RT

 N
UM

BE
R: M
T-

M
R-

UM
-A

-1
2-

06
-1

4-
01

-A
S

UN
IV

ER
SA

L 
M

O
UN

T 
A

SS
EM

BL
Y

PR
EC

IS
IO

N
 L

EV
EL

 : 
M

ED
 - 

±.
06

  [
1.

59
]

BR
A

C
KE

T 
[ ]

 D
IM

EN
SI

O
N

S 
A

RE
 IN

 M
M

8/
29

/2
01

7



  
 

  
 MR

TM

MR | MOTION & RIGGING
SLEEVE BLOCKSIssue Date: 11/07/2017



  
 
  
 

MR

KEY FEATURES
•	 Allows for linear travel
•	 Fixed sleeve or fixed truss movement
•	 Sleeves can be doubled or stacked

463 Cedar St.  |  Fond du Lac, WI • 54935 • USA  |  1.844.663.8787  |  www.ModTruss.com



  
 

Part Number:

Issue Date: 08/29/2017

Series: Motion & Rigging

U.S. Patent No. 8,418,425 & other patents pending

TM

6” Sleeve Block
Part Number: MT-MR-SL-06-12-03

Standard Material: A36 Low Carbon Steel and Nylon

Standard Finish: 10 - Zinc Clear

Available Finish(es): 10-12, 20-32

Size: 6” x 6” x 12” (152.40mm x 152.40mm x 304.80mm)

Weight: 19.30lbs (8.75kg)

Hole Size:  5/8” - 11 Weld Nut 

Recommended Hardware:  5/8” -11 Grade 8 Bolt, 1.5” Long   |   5/8” SAE Zinc-Plated Washer   |   5/8”-11 Thread, Grade 8 Hex Nut

Recommended Tools: ModTrussTM Tool Kit 1

Associated Products: MT-ASM-TOWER-03-03-048  |  MT-MR-HB-03

See more at: ModTruss.com

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

MT-MR-SL-06-12-03

6” x 6” x 12” Sleeve Block - Fits 3” x 3” Truss and Extrusion



Part Number:

Issue Date: 08/29/2017

Series: Motion & Rigging

U.S. Patent No. 8,418,425 & other patents pending

TM

MT-MR-SL-06-12-03

 
12

.0
0

30
4.

80
 

 
1.

50
38

.1
0

 

 
3.

00
76

.2
0

 

.6
3

15
.8

8

 
1.

50
38

.1
0

 
 

3.
00

76
.2

0
 

5/
8"

-1
1 

W
EL

D
 N

UT

 
6.

00
15

2.
40

 

 
6.

00
15

2.
40

 

3.
03

76
.9

9

3.
03

76
.9

9

UH
M

W
 R

O
LL

ER

D
ES

C
RI

PT
IO

N
:

RE
VI

SI
O

N
: N

R

PA
RT

 N
UM

BE
R:

M
T-

M
R-

SL
-0

6-
12

-0
3

SL
EE

V
E 

BL
O

C
K,

 A
C

C
EP

TS
 3

" M
T/

EX

PR
EC

IS
IO

N
 L

EV
EL

 : 
M

ED
 - 

±.
06

  [
1.

59
]

BR
A

C
KE

T 
[ ]

 D
IM

EN
SI

O
N

S 
A

RE
 IN

 M
M

8/
25

/2
01

7



  
 

Part Number:

Issue Date: 08/29/2017

Series: Motion & Rigging

U.S. Patent No. 8,418,425 & other patents pending

TM

MT-MR-SL-12-12-06

12” Sleeve Block
Part Number: MT-MR-SL-12-12-06

Standard Material: A36 Low Carbon Steel and Nylon

Standard Finish: 10 - Zinc Clear

Available Finish(es): 10-12

Size: 12” x 12” x 12” (304.80mm x 304.80mm x 304.80mm)

Weight: 59.10lbs (26.81kg)

Hole Size: 5/8” - 11 Weld Nut

Recommended Hardware: 5/8”-11 Thread Grade 8 Bolt, 2” Long   |   5/8” SAE Zinc-Plated Washer   |   5/8”-11 Thread, Grade 8 Hex Nut

Recommended Tools: ModTrussTM Tool Kit 1

Associated Products: 6” ModTrussTM Series  |  12” ModTrussTM Series |  MT-MR-HB-06

See more at: ModTruss.com

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

12” x 12” x 12” Sleeve Block - Fits 6” x 6” Truss and Extrusion



Part Number:

Issue Date: 08/29/2017

Series: Motion & Rigging

U.S. Patent No. 8,418,425 & other patents pending

TM

MT-MR-SL-12-12-06

6.
18

15
6.

85

6.
18

15
6.

85

 
3.

00
76

.2
0

 

 
1.

50
38

.1
0

 

 
3.

00
76

.2
0

 

 
1.

50
38

.1
0

 

5/
8"

-1
1 

W
EL

D
 N

UT

 
12

.0
0

30
4.

80
 

 
12

.0
0

30
4.

80
 

 
6.

75
17

1.
45

 

 
6.

75
17

1.
45

 

 
6.

75
 

UH
W

M
 R

O
LL

ER
S

D
ES

C
RI

PT
IO

N
:

RE
VI

SI
O

N
: N

R

PA
RT

 N
UM

BE
R:

M
T-

M
R-

SL
-1

2-
12

-0
6

SL
EE

V
E 

BL
O

C
K,

 A
C

C
EP

TS
 6

" M
T/

EX

PR
EC

IS
IO

N
 L

EV
EL

 : 
M

ED
 - 

±.
06

  [
1.

59
]

BR
A

C
KE

T 
[ ]

 D
IM

EN
SI

O
N

S 
A

RE
 IN

 M
M

8/
25

/2
01

7



  
 

Part Number:

Issue Date: 08/29/2017

Series: Motion & Rigging

U.S. Patent No. 8,418,425 & other patents pending

TM

MT-MR-SL-18-18-12

18” Sleeve Block
Part Number: MT-MR-SL-18-18-12

Standard Material: A36 Low Carbon Steel and Nylon

Standard Finish: 10 - Zinc Clear

Available Finish(es): 10-12, 20-32

Size: 18” x 18” x 12” (457.20mm x 457.20mm x 304.80mm)

Weight: 83.00lbs (37.65kg)

Hole Size: 5/8” Steel Weld Nuts

Recommended Hardware: 5/8”-11 Thread Grade 8 Bolt, 2” Long   |   5/8” SAE Zinc-Plated Washer   |   5/8”-11 Thread, Grade 8 Hex Nut

Recommended Tools: ModTrussTM Tool Kit 1

Associated Products: 6” ModTrussTM Series  |  12” ModTrussTM Series  |  MT-MR-HB-12

See more at: ModTruss.com

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

18” x 18” x 12” Sleeve Block - Fits 12” x 12” Truss
Metric version made to order



Part Number:

Issue Date: 08/29/2017

Series: Motion & Rigging

U.S. Patent No. 8,418,425 & other patents pending

TM

MT-MR-SL-18-18-12

 
18

.0
0

45
7.

20
 

12
.1

8
30

9.
25

12
.1

8
30

9.
25

 
3.

00
76

.2
0

  
1.

50
38

.1
0

 

5/
8"

-1
1 

W
EL

D
 B

LA
N

K

 
12

.0
0

30
4.

80
 

 
1.

50
38

.1
0

  
3.

00
76

.2
0

 

 
18

.0
0

45
7.

20
 

 
1.

50
38

.1
0

 
 

3.
00

76
.2

0
 

D
ES

C
RI

PT
IO

N
:

RE
VI

SI
O

N
: N

R

PA
RT

 N
UM

BE
R:

M
T-

M
R-

SL
-1

8-
18

-1
2

SL
EE

V
E 

BL
O

C
K,

 A
C

C
EP

TS
 1

2"
 M

T

PR
EC

IS
IO

N
 L

EV
EL

 : 
M

ED
 - 

±.
06

  [
1.

59
]

BR
A

C
KE

T 
[ ]

 D
IM

EN
SI

O
N

S 
A

RE
 IN

 M
M

8/
25

/2
01

7


